

TO VALIDATE, GO TO Certificate Number : GI-COO-47383-666386f6309e0 VERIFY.FTGS.US Date : June 07, 2024

	VERIFY.FI	63.05 Dat	<sup>e :</sup> June 07, 2024		
Seller (Exporter) Healthy Green Life Corporation	Transport Ty Vessel	pe		Port of Loading Los Angeles	
43 Corporate Park Irvine CA USA	Destination Country China			Destination Port Tianjin Xingang	
Consignee	Export Date 2024-05-30	Export Date 2024-05-30		rrier	
Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District	Import Permit Number N/A			Bill of Lading / AWB 401410208812	
Beijing China	Owner or Age N/A	ent	Forwarding A N/A	sgent	
Buyer (Importer) Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China	Village				
Description (May include notes on Quantity, Item Number, Marks and Numbe	rs Kind of Package		Weight	Country of Origin	
Alfalfa Hay			22.19 mt	United States	
Marks: TLLU4146303 52bales Alfalfa Hay Marks: TXGU5635738 52bales			22.253 mt	United States	
Alfalfa Hay Marks: MAGU5289185 51bales			22.662 mt	United States	
Alfalfa Hay Marks: EITU9150113 52bales			20.738 mt	United States	
Alfalfa Hay Marks: FCIU7509577 52bales			21.364 mt	United States	
Alfalfa Hay Marks: EITU9042973 52bales			21.981 mt	United States	
Alfalfa Hay Marks: EITU1973157 52bales			22.008 mt	19.632 mt	
Name of Authorized Trade Association		<ul> <li>The above-mentioned goads orial applicable in the country(les) to till -The information in this certificate accurate, true and complete.</li> <li>The Applicant undertakes to advice Certificate (or to whom the Certificate of any inaccuracy, omission or child -The Applicant will maintain, and truth, accuracy and completeness -In consideration for the GICS issi</li> </ul>	ginate in the country(ies) speci rose goods. e and in any documents provide ise GIC and any other person(s) icate is provided to with the knc ange in such information, or in present upon request, such doc s of this certificate and accomp uance of this Certificate, the Ap connection with the issuance of is made against GIC in connect	sumentation as is necessary to verify the anying documents. applicant agrees to release, discharge and hold of this certificate and to indemnify GIC in ion herewith.	



TO VALIDATE, GO TO Certificate Number : GI-COO-47383-666386f6309e0 VERIFY.FTGS.US Date : June 07, 2024

	VERIFY.FI	00.00	· June 07, 2024	
Seller (Exporter) Healthy Green Life Corporation	Transport Ty Vessel	pe	Port of Loadi Los Angeles	
43 Corporate Park Irvine CA USA	Destination C China	Country	Destination F Tianjin Xing	
Consignee	Export Date 2024-05-30	Export Date 2024-05-30 Import Permit Number N/A		rrier
Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District				Bill of Lading / AWB 401410208812
Beijing China	Owner or Age N/A	ent	Forwarding A N/A	igent
Buyer (Importer) Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China	Remarks Total: 1546 Total: 651.8			
Description (May include notes on Quantity, Item Number, Marks and Numbe	ra Kind of Dookoga		Weight	Country of Origin
Alfalfa Hay	IS, KIIIU OI PACKAGE	(S.)	22.435 mt	United States
Marks: EITU9071776 52bales				
Alfalfa Hay			22.036 mt	United States
Marks: TCLU6328438 52bales				
Alfalfa Hay			21.818 mt	United States
Marks: EGHU9294090 51bales				
Alfalfa Hay			21.673 mt	United States
Marks: TXGU7248661 50bales				
Alfalfa Hay			22.108 mt	United States
Marks: TGBU9973685 52bales				
Alfalfa Hay			21.346 mt	United States
Marks: EMCU8440683 50bales			00.40	
Alfalfa Hay Marks: TGBU7868844 52bales			22.19 mt	United States
Name of Authorized Trade Association		<ul> <li>The above-mentioned goods origit applicable in the country(les) to the -The information in this certificate accurate, true and complete.</li> <li>The Applicant undertakes to advisic Certificate (or to whom the Certific of any inaccuracy, omission or cha -The Applicant will maintain, and pit truth, accuracy and completeness of -In consideration for the GIC's issue</li> </ul>	nate in the country(ies) specifi ose goods. and in any documents provide e GIC and any other person(s) ate is provided to with the knc nge in such information, or in resent upon request, such doc of this certificate and accomp ance of this Certificate, the Ap onnection with the issuance o made against GIC in connect	umentation as is necessary to verify the anying documents. plicant agrees to release, discharge and hold of this certificate and to indemnify GIC in ion herewith.



TO VALIDATE, GO TO Certificate Number : GI-COO-47383-666386f6309e0 VERIFY.FTGS.US Date : June 07, 2024

	VERIFY.FI	00.00 Pute	· June 07, 2024		
Seller (Exporter) Healthy Green Life Corporation	Transport Tyj Vessel	pe	Port of Loadir Los Angeles		
43 Corporate Park Irvine CA USA	Destination Country China		X / / // / / / / / / / / / / / / / /	Destination Port Tianjin Xingang	
Consignee	Export Date 2024-05-30		Exporting Car N/A	rier	
Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District	Import Permi N/A	Import Permit Number N/A		Bill of Lading / AWB 401410208812	
Beijing China	Owner or Age N/A	ent	Forwarding A N/A	gent	
Buyer (Importer) Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China	Remarks Total: 1546 I Total: 651.82				
Description (May include notes on Quantity, Item Number, Marks and Numbe	rs. Kind of Packago		Weight	Country of Origin	
Alfalfa Hay	rs, Killu of Fackage	5.)	22.226 mt	United States	
Marks: EGHU9566753 52bales					
Alfalfa Hay			21.646 mt	United States	
Marks: EITU9236454 52bales					
Alfalfa Hay			22.389 mt	United States	
Marks: TRHU5766050 52bales					
Alfalfa Hay			22.135 mt	United States	
Marks: TGBU4690851 52bales					
Alfalfa Hay			21.419 mt	United States	
Marks: TCKU6088129 51bales			01 110	Linited Chates	
Alfalfa Hay Marks: EGHU9518610 51bales			21.119 mt	United States	
Alfalfa Hay			20.92 mt	United States	
Marks: EITU1630374 49bales			20.02 m		
Name of Authorized Trade Association		applicable in the country(ies) to the -The information in this certificate accurate, true and complete. -The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or cha -The Applicant will maintain, and pi truth, accuracy and completeness -In consideration for the GIC's issue	nate in the country(ies) specifi ose goods. and in any documents provided e GIC and any other person(s) ate is provided to with the know nge in such information, or in th resent upon request, such doc of this certificate and accompa ance of this Certificate, the App onnection with the issuance of made against GIC in connection	ed above and comply with the rules of origin I to the Greater Irvine Chamber ("GIC") is to whom the applicant provides this vieldge of the Applicant) promptly in writing ne origin of goods. mentation as is necessary to verify the nying documents. licant agrees to release, discharge and hold this certificate and to indemnify GIC in on herewith.	



 TO VALIDATE, GO TO
 Certificate Number :
 GI-COO-47383-666386f6309e0

 VERIFY.FTGS.US
 Date :
 June 07, 2024

	VERIFY.FI	03.03 Dat	<sup>e :</sup> June 07, 2024		
Seller (Exporter) Healthy Green Life Corporation	Transport Ty Vessel	pe		Port of Loading Los Angeles	
43 Corporate Park Irvine CA USA	Destination Country China		VX / / // / / / / / / / / / / / / / / /	Destination Port Tianjin Xingang	
Consignee	Export Date 2024-05-30	Export Date 2024-05-30		rrier	
Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District	Import Permit Number N/A			Bill of Lading / AWB 401410208812	
Beijing China	Owner or Age N/A	ent	Forwarding A N/A	Agent	
Buyer (Importer) Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China	nittee, Wuxiongsi Village				
Description (May include notes on Quantity, Item Number, Marks and Numbe	rs Kind of Package	(20	Weight	Country of Origin	
Alfalfa Hay			21.183 mt	United States	
Marks: EITU1514040 51bales Alfalfa Hay Marks: TLLU4138720 51bales			21.011 mt	United States	
Alfalfa Hay Marks: EITU9128341 52bales			20.965 mt	United States	
Alfalfa Hay Marks: EITU1585953 52bales			20.131 mt	United States	
Alfalfa Hay Marks: EGHU9875177 51bales			21.119 mt	United States	
Alfalfa Hay Marks: OCGU8010007 52bales			21.528 mt	United States	
Alfalfa Hay Marks: TRHU8362828 52bales			22.507 mt	United States	
Name of Authorized Trade Association		<ul> <li>The above-mentioned goads ori applicable in the country(les) to t</li> <li>The information in this certificat accurate, true and complete.</li> <li>The Applicant undertakes to adv Certificate (or to whom the Certifi of any inaccuracy, omission or cti- The Applicant will maintain, and truth, accuracy and completeness- in consideration for the GICS isso</li> </ul>	ginate in the country(ies) speci hose goods. e and in any documents provide ise GIC and any other person(s icate is provided to with the kne nange in such information, or in present upon request, such doo s of this certificate and accomp uance of this Certificate, the Ap connection with the issuance os made against GIC in connect	cumentation as is necessary to verify the panying documents. oplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in tion herewith.	



 TO VALIDATE, GO TO
 Certificate Number :
 GI-COO-47383-666386f6309e0

 VERIFY.FTGS.US
 Date :
 June 07, 2024

			64116 67, 2024		
Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Typ Vessel	De	Port of Loadin Los Angeles	g	
Irvine CA USA	Destination Country China Export Date 2024-05-30		X / / [//] / / / / / ///////////////////	Destination Port Tianjin Xingang	
Consignee			Exporting Carr N/A	ier	
Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District	Import Permi N/A	t Number	Bill of Lading / 40141020881		
Beijing China	Owner or Age N/A	ent	Forwarding Ag N/A	ent	
Buyer (Importer) Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China	Remarks Total: 1546 t Total: 651.82				
Description (May include notes on Quantity, Item Number, Marks and Numbers, H	Kind of Package	s.)	Weight	Country of Origin	
Alfalfa Hay Marks: EGHU9768517 52bales			22.335 mt	United States	
Alfalfa Hay			22.389 mt	United States	
Marks: EITU9135530 52bales					
======end of products========					
Name of Authorized Trade Association		applicable in the country(ies) to the -The information in this certificate is accurate, true and complete. -The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or chan- The Applicant will maintain, and pr truth, accuracy and completeness of -In consideration for the GIC's issue	nate in the country(ies) specifie use goods. and in any documents provided e de is provided to with the know nge in such information, or in th esent upon request, such docu of this certificate and accompar ance of this Certificate, the Appl onnection with the issuance of made against GIC in connectio	d above and comply with the rules of origin to the Greater Irvine Chamber ("GIC") is by whom the applicant provides this ledge of the Applicant) promptly in writing e origin of goods. mentation as is necessary to verify the wjing documents. icant agrees to release, discharge and hold this certificate and to indemnify GIC in n herewith.	

#### Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

COMMERCIAL INVOICE	Invoice No.	YY-202405001
	Date:	5/16/24

Shipper/Exporter: Healthy Green Life C 1152 S Roughcut Dr Casa Grande, AZ 85	200 meters west of Village Commit		Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village, Dasungezhuang Town,	
Vessel:	EVER FAR	Contract No.:	YY-HGLC2024-2	
Voyage No.:	1348-020W	Booking No.:	401410208812	
Shipping Line:	Evergreen	Country of Origin:	USA	
Port of Loading:	LOS ANGELES, CA	Discharge:	TianjinXingang, China	
ETD:	5/24/24	ETA:	6/22/24	
Price Terms:	CIF			

Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
EGHU9294090	A1713411	Alfalfa Supremi	51	21.818	\$417.00	\$9,098.11
EGHU9518610	A1713316	Alfalfa Supremi	51	21.119	\$417.00	\$8,806.62
EGHU9566753	A1713362	Alfalfa Supremi	52	22.226	\$417.00	\$9,268.24
EGHU9768517	A1713430	Alfalfa Supremi	52	22.335	\$417.00	\$9,313.69
EGHU9875177	A1713266	Alfalfa Supremi	51	21.119	\$417.00	\$8,806.62
EITU1514040	A1713314	Alfalfa Supremi	51	21.183	\$417.00	\$8,833.31
EITU1585953	A1713311	Alfalfa Supremi	52	20.131	\$417.00	\$8,394.63
EITU1630374	A1713315	Alfalfa Supremi	49	20.920	\$417.00	\$8,723.64
EITU1973157	A1713416	Alfalfa Supremi	52	22.008	\$417.00	\$9,177.34
EITU9042973	A1713465	Alfalfa Supremi	52	21.981	\$417.00	\$9,166.08
EITU9071776	A1713413	Alfalfa Supremi	52	22.435	\$417.00	\$9,355.39
EITU9128341	A1713312	Alfalfa Supremi	52	20.965	\$417.00	\$8,742.41
EITU9135530	A1713429	Alfalfa Supremi	52	22.389	\$417.00	\$9,336.21
EITU9150113	A1713470	Alfalfa Supremi	52	20.738	\$417.00	\$8,647.75
EITU9236454	A1713361	Alfalfa Supremi	52	21.646	\$417.00	\$9,026.38
EMCU8440683	A1713368	Alfalfa Supremi	50	21.346	\$417.00	\$8,901.28
FCIU7509577	A1713466	Alfalfa Supremi	52	21.364	\$417.00	\$8,908.79
MAGU5289185	A1713251	Alfalfa Supremi	51	22.662	\$417.00	\$9,450.05
OCGU8010007	A1713265	Alfalfa Supremi	52	21.528	\$417.00	\$8,977.18
TCKU6088129	A1713317	Alfalfa Supremi	51	21.419	\$417.00	\$8,931.72
TCLU6328438	A1713412	Alfalfa Supremi	52	22.036	\$417.00	\$9,189.01
TGBU4690851	A1713318	Alfalfa Supremi	52	22.135	\$417.00	\$9,230.30
TGBU7868844	A1713365	Alfalfa Supremi	52	22.190	\$417.00	\$9,253.23
TGBU9973685	A1713369	Alfalfa Supremi	52	22.108	\$417.00	\$9,219.04
TLLU4138720	A1713313	Alfalfa Supremi	51	21.011	\$417.00	\$8,761.59
TLLU4146303	A1713255	Alfalfa Supremi	52	22.190	\$417.00	\$9,253.23
TRHU5766050	A1713319	Alfalfa Supremi	52	22.389	\$417.00	\$9,336.21
TRHU8362828	A1713471	Alfalfa Supremi	52	22.507	\$417.00	\$9,385.42
TXGU5635738	A1713257	Alfalfa Supremi	52	22.253	\$417.00	\$9,279.50
TXGU7248661	A1713370	Alfalfa Supremi	50	21.673	\$417.00	\$9,037.64
Total Value:	*		1,546	651.824		\$271,810.61

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

